FIXiNG 4¥ 3T EMS

TECHNICAL DATASHEET

Reference: FT CH-en

Date: 01102119 | Revision: 14| Page: 12 of 15

ACHTPIO8BC

M6 x 45 @8

SUMBXE0@8T

ACHTPI10C

M8 x 60 @10

" ACHTPHOL
ACHTPIL2C

S MB X B0 @10 -

M10x 70 @12

S ACHTRIDL

SMI10%100832 ©

CH-INB

ACHINBOBC

MG % 45 8

ZACHINBOBL: 2

ACHINB1OC
\CHINB1OL

CH-GA

ACHINNOSC

M8 x 60 910

 MBxBO@IO0

M6 x 45 @8

\CHINNOBL
ACHINN10C

SMBXBO@8 T

M8 x 60 @10

.. ACHINN1OL

o MBxB0 P10

ACHGOBC

M6 x 45 (33

s -A.CH.GDQE T

TIMBXAS @Y T

ACHG10C

M8 x 60310

T wdxeogn

ACHGI2C

M10x 70 @12

-t ACHGIAC

R M3.0 %70 A

ACHG16C

Mi2x80@16

S ACHADBC S

ST MEXAS @8

ACHADIC

MEXE0 @8

SMIDXTO@12 s

MI0x 70 14

o ACHAIGC

IMI2YB0@16.

CH-GF

ACHGFO08C

M6 x 45 @8

T AGHBROWOC

S MBx 60010

ACHGFO12C

M0 x 70 ¢12

CH-GF A2

CACHAFOOBC: - 5
ACHAFO10C

Tmexasgs. TR

M8 x 60 @10

LMIORTOPII.

M6 x 45 @8

o ACHGA2IOC | -

MI0x 70 @12

ACHGAZ12C

ACHAA210C

Tmexasgs T

M8 x 60 B10

- ACHAA212C

© s

CH-ES

ACHEQBC

M6 x 45 g8

S EACHEQSC

T ey

ACHELGC

M8 x 60 @10

SACHEIOL:

ACHE11C

wsxsogio”

M8 x 60 @11

ACHEZIL

CooMexB0gll L

ACHE12C

M10x 70 @12

T AGEL

T M10x108¢12 :

ACHE14C

M10x 70 14

CACHERAL 5

ACHGE1G

_ Mioxioo@ia o

M8 x 115 310

CACHGEIR: e

1KN =100 kg
Values underlined and In italics indicate steel failure; bold vaiues indicate concrete faliure and the rest indicate pull-out failure.




